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FACTORISATION OF POLYNOMIALS

Solved Examples

1. The factor form 4(3a — 2b)* — 5(3a — 2b) is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EGRXby5rqpBl

A.(3a — 26)[12a — 8b — 5]
B. (2a — 3b)[12a — 8b — 5]
C.(3a — 2b)(8a — 12b — 5]

D. (3a — 2b)[5a — 8b — 12]

Answer: A

o View Text Solution

2. The factor form xy + yz + xa + za is

A. Xz +ya


https://dl.doubtnut.com/l/_EGRXby5rqpBl
https://dl.doubtnut.com/l/_2KTbUBeWei2t

B.(x+2)(y+a)

C.xy + za

D. (x + a)(y + z)

Answer: B

o Watch Video Solution

3. The factor form 1622 — 8z 4 1is

A (4z — 1)*

B. (2¢ — 2)°


https://dl.doubtnut.com/l/_2KTbUBeWei2t
https://dl.doubtnut.com/l/_RRpuzOuCFsou

C.(3z — 2)°

D. (5z — 1)°

Answer: A

o View Text Solution

4.The factor form z* + z%y® + y* is

A. (mz + y2 + wy) (a:2 + y2 + a:y)
B. (a:z — y2 + zcy) (m2 — y2 — a:y)

C. (wz + y2 — zcy) (zcz — y2 + a:y)


https://dl.doubtnut.com/l/_RRpuzOuCFsou
https://dl.doubtnut.com/l/_GJqHVRUBO1hy

D. (z° + y° + zy) (2 + y* — zy)

Answer: D

o View Text Solution

5.The factor form =2 + 9z + 14 is

A(z+T7)(z+2)
B.(x — 7)(z + 2)
C.(2z + 7)(3z + 3)

D. (z + 3)(z + 4)


https://dl.doubtnut.com/l/_GJqHVRUBO1hy
https://dl.doubtnut.com/l/_K6kfhR775PcX

Answer: A

o View Text Solution

6. The factor form (22 + 3y)® — (2z — 3y)* is

A. 18y(4:132 + 3y2)
B. 18y(4x — 3y)
C. 18y*(4z + 3y)

D. 18y(4a;2— 3y2)

Answer: A



https://dl.doubtnut.com/l/_K6kfhR775PcX
https://dl.doubtnut.com/l/_PvGlPky9nQ0R

° View Text Solution

Exam Booster For Cracking Exam

1. The factor form 52— 20zy is

A 5z (x — 4y)
B.10z(z — 2y)
C. 5(:132 — 2y)

D. None of these

Answer: A


https://dl.doubtnut.com/l/_PvGlPky9nQ0R
https://dl.doubtnut.com/l/_neBCkSbV33iN

° View Text Solution

2.The factor form 5z (y + z) — Ty(y + 2) is

A. (5z — Ty)(y — 2)
B. (bz — Ty)(y + 2)
C. (5 + Ty)(y + 2)

D. (bz + Ty)(y — 2)

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_neBCkSbV33iN
https://dl.doubtnut.com/l/_sNxPboievrgk

1 5 1.
3.f {z + — | =6, then | 2° + — ] is equal
i 332

to

A. 32
B. 38
C.34

D. 44

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_mPp5lW3dpu5C
https://dl.doubtnut.com/l/_1DFP464YKlap

4.The factor form y* + 3y + y + 3is
A (y+1)(y+3)
B.y* + 37
2 2
C. (y + 3)

D.(y+2)(y+ 1)

Answer: A

° View Text Solution

1 2
5. The factor form z2 + —+2—-—2z— —s
22 z


https://dl.doubtnut.com/l/_1DFP464YKlap
https://dl.doubtnut.com/l/_eHwLE2hXhkY6

Answer: B

o View Text Solution

6. The factor form 8 — 4z—2x° + z%is

A (2 —z)(4 %)


https://dl.doubtnut.com/l/_eHwLE2hXhkY6
https://dl.doubtnut.com/l/_vQeAUTuqX9ok

B.(2 + z) (4 z°)
C.(2+z)(4+2°)

D.(2—z)(4+ z°)

Answer: A

° View Text Solution

7.The factor form z* — 2,/3z + 3 is

A (z ++/3)°

B. (z — v/3)°


https://dl.doubtnut.com/l/_vQeAUTuqX9ok
https://dl.doubtnut.com/l/_xojPNJaRWm3O

C. (z + v/3) (z — v/3)

D.(z + 2)(z + +/3)

Answer: B

o View Text Solution

8. The factor form (a4b4 — 16c4) is

A 4(a’b® + %) (ab — 2¢)(ab + 2c)
B. (a’b* — 4c®) (ab + 2c)*

C. (a’b” + 4¢®) (ab — 2¢)(ab — 2c)


https://dl.doubtnut.com/l/_xojPNJaRWm3O
https://dl.doubtnut.com/l/_3F4mWV01AWRx

D. (a2b2 — 402) (ab — 2¢)(ab + 4c)

Answer: C

o View Text Solution

1
9. If (a:+ E) = /3 , then the value of
3 1 -
"+ — will be
T
A.3,/3

B.3(v/3—1)

C.0


https://dl.doubtnut.com/l/_3F4mWV01AWRx
https://dl.doubtnut.com/l/_2lS8b4ZTtzDu

D.3(v/3+1)

Answer: C

o View Text Solution

10. If '@ is an integer such that

1 17 1
a+ — | = —, then the value of [ a — —
a 4 a


https://dl.doubtnut.com/l/_2lS8b4ZTtzDu
https://dl.doubtnut.com/l/_jXvMPtebiUzf

Answer: D

o View Text Solution

11. What are the factors of (a3 — 2\/§b3) ?

A. (a — v/2b) (a® + +/2ab + 2b)
B. (a — \/ﬁb) (a2 + /2ab + 2b2)
C. (a — \/ﬁb) (a2 + /2ab + b2)


https://dl.doubtnut.com/l/_jXvMPtebiUzf
https://dl.doubtnut.com/l/_4izQtyxw7aM1

D. None of these

Answer: B

o View Text Solution

12. What are the factors of 32z* — 500z ?

A 4z (2z — 5) (42> + 10z + 25)
B.4z(2z — 5) (42> + 10z + 5)
C.4z(2z — 5)(z” + 10z + 25)

D. None of the above


https://dl.doubtnut.com/l/_4izQtyxw7aM1
https://dl.doubtnut.com/l/_aTWJBs6NWCJa

Answer: A

o View Text Solution

13. What are the factors of [(a — b) — a® + b°]
?
A.(a —b)(1 R + ab)
B.(a — b)(1 — a® + b — ab)
C.(a—b)(1—a®—b" — ab)

D. None of these


https://dl.doubtnut.com/l/_aTWJBs6NWCJa
https://dl.doubtnut.com/l/_S30bmJPvFYAs

Answer: C

o View Text Solution

14. What are the factors
(a—b)°+(b—0c)’+(c—a)’?

A.3(a —b)(b—c)(a — ¢)

B.3(a — b)(c — b)(c — a)

C.3(a —b)(c—b)(c— a)

D. None of these

of


https://dl.doubtnut.com/l/_S30bmJPvFYAs
https://dl.doubtnut.com/l/_c7Kq8POpXXqa

Answer: C

o View Text Solution

15. What are the factors of
{(5& — 70)° + (9¢ — 5a)® + (7b — 90)3] ?
A.3(5a — 7b)(9c — 5a)(7b — 9c)
B.3(5a — 7b)(9c — 5a)(b — 9c)
C. (5a — 7b)(9¢c — 5a)(7b — 9c)

D. None of the above


https://dl.doubtnut.com/l/_c7Kq8POpXXqa
https://dl.doubtnut.com/l/_yL6oiWm6co6y

Answer: A

o View Text Solution

16. What IS the remainder  when
(42° — 32® + 2z — 1) is divided by (x + 2)?

A. 49

B. —49

C.9

D. —32


https://dl.doubtnut.com/l/_yL6oiWm6co6y
https://dl.doubtnut.com/l/_Zu9JYszWlxnG

Answer: B

o View Text Solution

17. What is the remainder  when
1223 — 13z*- 5z + Tis divided by (3x + 2)?

A1

B. 2

C.3

D.4


https://dl.doubtnut.com/l/_Zu9JYszWlxnG
https://dl.doubtnut.com/l/_MTzm2My2z1oc

Answer: A

o View Text Solution

1
18. What are the factors of (§x2 — 2x — 9) ?

(z + 3)(z — 9)

oo||—\ c»3|»—l

(z + 3)(z +9)
C.(x+3)(z—9)

D. None of these

Answer: A


https://dl.doubtnut.com/l/_MTzm2My2z1oc
https://dl.doubtnut.com/l/_6Xnockn5DC4W

° View Text Solution

19. What are the factors
(61/32°— 47z + 5,/3)?

A (2z — 54/3) (1 — 3,/3z)

B. (2z — 54/3) (3y/z — 1)

C. (2z — 5¢/3) (3 — 1)

D. (2z — 54/3) (3v/3z — 1)

Answer: D

of

l o VA avar Tawdk Caliidkiawm


https://dl.doubtnut.com/l/_6Xnockn5DC4W
https://dl.doubtnut.com/l/_gGxJV9od1Dt0
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1
20. What must be added to; to make it equal

tox?

x2 —1
A.

T
z2 +1
T

B.

1
C. —
T

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gGxJV9od1Dt0
https://dl.doubtnut.com/l/_p9ee6ys3vTMR

21.Ifa+ b + c=10 and ab + bc + ac = 31, then

the value of a® + b* + ¢ is

A. 28

B. 100

C.62

D. 38

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_p9ee6ys3vTMR
https://dl.doubtnut.com/l/_9tyPBcdhRcA7
https://dl.doubtnut.com/l/_QZ1X3UAzL8hg

22. The factors of (CL‘4 + 4 25) are

A.(ac2—|—5—3w)(a32—|—5a3—3)
B.(a:2—|—5—3w)(az2—|—5—|—3a:)
C.(z* +5—3z)(z* + 5 — 3z)

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_QZ1X3UAzL8hg

23. The factors of 8a® + b — 6ab+ 1 are
(2 +b— 1) (4a2—|—bz—|—1—3ab—2a)

(2a — b+ 4a2—|—b2—4ab—|—1—2a—|—b)

1
(2 + b+ 1)

)(
(4a® + b° + 1 — 2ab — b — 2a)
(2a — 14 b)(4a® + 1 — 4a — b — 2ab)

(2a +b+1)(42® +b* + 1 — 2ab — b — a)

(2a + b+ 1)(4a® + a® + 1 — 2ab — b — 2a)


https://dl.doubtnut.com/l/_nGakTgmTzHkD

(2a + b+ 1)(4a® + 5> + 1 — 2ab — b — 2a)

D. None of the above

Answer: C

° Watch Video Solution

24. The factors of
(a:2 + 23:)2 — 3(332 + 2:0) — y(:c2 + 2:6) + 3y

are


https://dl.doubtnut.com/l/_nGakTgmTzHkD
https://dl.doubtnut.com/l/_yEBpn1MeJUZs

A (z — 1)(z + 3)(z® + 2z + )
B.(z — 1)(z + 3) (2 + = — y)
C.(z —1)(z — 3) (2% + 2z — v)

D. None of the above

Answer: D

o View Text Solution

1 1
25. The factors of z2 4+ — +1 — 22 — —
42 x

are



https://dl.doubtnut.com/l/_yEBpn1MeJUZs
https://dl.doubtnut.com/l/_loT1UzgT8By9

D. None of these

Answer: B

o View Text Solution

26. The factors of z* — 142%y? — 51y*

A (z + V17y) (z — V17y) (z° + 3y?)



https://dl.doubtnut.com/l/_loT1UzgT8By9
https://dl.doubtnut.com/l/_LSlYdyZpH8zi

B. (a: + ﬁy) (a: — \/1_7y) (a:2 + 3y2)
C. (z + VITy) (z — VITy) (2* + )

D. None of the above

Answer: A

o Watch Video Solution

27. The remainder when 4a®*-12a% + 14a — 3

is divided by 2a - 1is

Al
"2


https://dl.doubtnut.com/l/_LSlYdyZpH8zi
https://dl.doubtnut.com/l/_TgLvNS6159gW

%

N
N w N

D. None of these

Answer: C

o View Text Solution

28. If the polynomials (2563 + az® + 3z — 5)
and (ac3 + 2 — 22 + a) leave the same
remainder when divided by x-2, then the value

ofais


https://dl.doubtnut.com/l/_TgLvNS6159gW
https://dl.doubtnut.com/l/_n99hg4vYqMV8

C.3

D.2

Answer: A

o View Text Solution

29. The factors of 4z° + 2322 — 41x— 42 are

A (2x-7)(x+ 7) (4x + 3)


https://dl.doubtnut.com/l/_n99hg4vYqMV8
https://dl.doubtnut.com/l/_nseJU7VeVzO5

B. (x-2)(x+ 7)(4x + 3)

C. (x-2)(x+7)(x + 4)

D. None of these

Answer: B

o View Text Solution

30. If (a:3 + ax2 + bx +6) has (x - 2) as a
factor and leaves a remainder 3, when divided

by (x - 3), then the values of 'a' and 'b' are


https://dl.doubtnut.com/l/_nseJU7VeVzO5
https://dl.doubtnut.com/l/_2eyEVh7NcW6w

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_2eyEVh7NcW6w

